(R (€A
Rey e cans fer playe
e i v e 2 S . A i
:j __3 e:) Py ] n bl FV)”!TS )‘/Y)% W17
t { | O+ i/‘l/\.'ﬁf
o [ax+bv.pcz+d -‘:W
3 [ [ 1 "~
) s
S/ (a,be>e ¥ Y3y +d =0
Z%Y-{I = V= la b TJ( He  prornad
/ %\ -;{{) v cov //743\%9\7
%
%A: (F\ ',F\))‘(/'}?_F)) (\//
2 e b
~ get ez lg o~ . L. = l4 b >
v / [ 4 I] W~ ~cnsw 4] // 7
And a $insk Voih”j <X yo’zé'\}
.\2
Wt Cann FinAd A = P"<7‘°YO%>
\ ~ <1t Hh.
g 7
(
C iS5 Same so (SD L]MS In 34 |5 C
X=Xo . YYo o Z-2 /f/VZ(al,Jol,c>
a b < JAVERV] 25 /\
/ P 7o 157 |
Y _ ] 14}
_ p _ | /T AT
EXomple ¢ #1nd The Vo, e I
II'A-J—/rQ//v‘I,In R 4 mn‘;‘-l-( 51 41.4 /71;;4' a4 rT
17T U o= ll/ r’u' VD oM J e
X+ 2y +2 =
VIR o) 1,27 = O, ohe
2x +3y ~E& = 0 71 J b
, ) ( tov evry t £ R .
=) Ak Sol/vT Ieh 4 )
! / )
Caussidn o inaZTo2 0TI Yy hrpmetri  Form
I | Cor write 45
Ccan alse use cyposs prod
are tho pl fed 7 Y= Xkt =t Eh,
prones pave g / 2 =2, +Tc




[AA

14 b
‘{-r\/ B Frud a solv To
y) 1 o
4 z {4145 \~heaT z =0 checle Novvnal V’c,a]—u\"S
Xt2y=—4 ) setn " ‘
R SRS Ny =<ty 2,77 N et
£ rT57 = 0 J ;5\7_ ;,’;-.—(2)3/,~/> IL
7 O - v A
12y =& 0 7 H<r ®5 _/ direcAron yechv

He JThe ~> 29hb 15 // / +or line 135

™ S ) Lt beth BT

}

{5,%,2> = diy =%, 00 Ly, o

’ Sivee iF Tres T
| -t /_’5 2 ]> /'/
T TtL< 77, ) both },lan,c} ' .
qu.,’_r,d,’n\',,\//cré]\f — N X Y
all, v A4 7 "I /Z

betoeon [ planes, :<"5’/ 3 '“/S
VA

Necd a S ingle /oa':'q’f on line

N (S
¢ /2) 2]15‘0‘0,\/%/%\_):”3 ("D Fl‘u,( A;’H-g|44€ betpyeen
f »j
Q2 ,1>e ((x,,,,yv/zg—fo{(z/zi)}/ <z, Z 1>,y 2>tI =0
— {3 P?Z(Z/ 2./17‘()‘]>'1'Z\) -}3 =90

— 9 + o(((ZI,ZJ 1> (2,,21,;}): JJ’I S

L Nz 2215 Sppose (X vy 35 11¢s on P
ZAN R L I R A i by e jto”
]
ind v that
= 2 \[gtsp; = 9 F A 5
D V| 11 1

(o Yo 2a> F 6 <2,2,00

[Tes onw 3% w4 r’w“hf

g 4 |
TLH’V) ” ol (;_I 2, (D 18 The 574




218 2t A

Evample 3 Fiug Fhe distance

behveon 7 ke Lues 1n 34

-] y —F e
To <

Al rection vechr o1 beth

[T ¢ /’I{;MA{ Sl ng M)OfM
| I A N~ ) " | A AN W '/ o

, Then +he [in=y [T< ou

LT betueen lines =

AisT botiea ftose yl;uvc.f .

L
N

\o




